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o000 10210200 000000000000

2P +1 = 510510m + 254183
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P = 510510n + 127103

2P + 1 = 2(510510n + 127103) + 1 = 10210201 4 254206 + 1 = 10210201 + 254207
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gooooooboo3sooooooooobooooOobooboobOoobbOODbDoOobboUODboO
goo
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P =510510n + 127117
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P = 5105100 + 127123

2P + 1 = 2(510510n + 127123) 4+ 1 = 10210201 + 254246 + 1 = 10210200 + 254247
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P = 5105100 + 127133
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gooodoOooOoles0doboOdOoO0O0oDOO00oDbDOoO0ODOOUDbOUObDO0O0OO0OUODOUODOO
good

Q=1291090000
P =510510n + 129109

2P + 1 = 2(510510n + 129109) + 1 = 10210201 + 258218 + 1 = 10210201 + 258219
0000010210200 20 2003,5,7,11,13,17000000 10000000

258219 =3 x 3 x 13 x 2207 x 1

ogooo
2P + 1 = 39(26180n + 6621)

obooboooo3ooooooooobobooobooobooboobobDooobOoobOoo
good

Q=1291130000
P = 5105100 + 129113
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2P + 1 =2(510510n + 129113) + 1 = 10210201 + 258226 + 1 = 1021020n + 258227

0000010210200 20 2003,5,7,11,13,17000000 1000000

258227 =71 x 3637 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 258227

gboboobogobogoboboobboobooobooooboon

Q=1291190000
P = 5105100 + 129119

2P + 1 = 2(510510n + 129119) 4+ 1 = 10210201 + 258238 + 1 = 10210201 + 258239
0000010210200 20 2003,5,7,11,13,17000000 1000000

258239 = 281 x 919 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 258239

gbbooggbogoboobbugobboobbooobuoonbagn

Q=129121 0000
P =510510n + 129121

2P + 1 =2(510510n + 129121) + 1 = 1021020n + 258242 + 1 = 1021020n + 258243
oboo00o0o10210200 20 2003,5,7,11,13,17000000 10000000

258243 = 3 x 59 x 1459 x 1

oooo
2P + 1 = 3(340340n + 86081)

o00ob0ooO0oo03000b0ooooooboobooDo0obob0obDobDOobOoobOobDOobDOoon
goo

Q=1291270000
P = 510510n + 129127

2P 4+ 1 =2(510510n + 129127) 4+ 1 = 1021020n + 258254 + 1 = 10210201 + 258255

0000010210200 20 2003,5,7,11,13,17000000 10000000

258255 =3 x3 x 3 xHx1913 x 1
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oooo
2P + 1 = 15(68068n + 17217)

oooooooolboooobooooobobooobooboobooboboooobOoobOoo
good

Q=1291310000
P =510510n + 129131

2P 4+ 1 = 2(510510n + 129131) 4+ 1 = 10210201 4 258262 + 1 = 1021020n + 258263
0000010210200 20 2003,5,7,11,13,17000000 1000000

258263 = 271 x 953 x 1

o000 10210200 000000000000

2P +1 = 510510m + 258263

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=1291330000
P =510510n + 129133

2P + 1 = 2(510510n + 129133) + 1 = 10210201 + 258266 + 1 = 10210201 + 258267
0000010210200 20 2003,5,7,11,13,17000000 10000000

258267 =3 x 19 x 23 x 197 x 1

good
2P + 1 = 3(340340n + 86089)

g0obOobooo30boboboooooboobooDoobobooDobDobooobOobDOobDOoo
goo

Q=1291370000
P = 5105100 + 129137

2P 4+ 1 =2(510510n + 129137) 4+ 1 = 1021020n + 258274 + 1 = 1021020n + 258275

0000010210200 20 2003,5,7,11,13,17000000 10000000

258275 =5 x 5 x 10331 x 1

oooo
2P + 1 = 5(204204n + 51655)

gooooooUds0OUObOOoO0bOOObOOU0bOO0ObDO0ODOODOODbDOUODOODOUODOO
goo
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Q=1291390000
P = 510510n + 129139

2P + 1 =2(510510n + 129139) + 1 = 1021020n + 258278 + 1 = 10210201 + 258279

0000010210200 20 2003,5,7,11,13,17000000 10000000

258279 =3 x T x7Tx7x251 x1

oooo
2P + 1 = 21(48620n + 12299)
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goog

Q=129161 0000
P =510510n + 129161

2P + 1 =2(510510n + 129161) + 1 = 1021020n + 258322 + 1 = 1021020n + 258323

0000010210200 20 2003,5,7,11,13,17000000 10000000

258323 =13 x 31 x 641 x 1

oooo
2P + 1 = 13(78540n + 19871)

o0boobO0oobOoooooooooboooobooobOo0oboOobUobDoooDbOobobOoo
good

Q=1291630000
P = 510510n + 129163

2P + 1 =2(510510n + 129163) + 1 = 10210201 + 258326 + 1 = 1021020n + 258327

0000010210200 20 2003,5,7,11,13,17000000 10000000

258327 =3 x 3 x 28703 x 1

oooo
2P + 1 = 3(340340n + 86109)

gooooooOo3soobooooooboo0OoOoU0bOoUbDOoUobDOoUobDOUDbDOoUobDboUDoO
oono

Q=1291670000
P =510510n + 129167

2P 4+ 1 =2(510510n + 129167) + 1 = 1021020n + 258334 + 1 = 1021020n + 258335
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0000010210200 20 2003,5,7,11,13,17000000 10000000

258335 =5 x 7 x 11 x11 x61 x1

oooo
2P + 1 = 385(2652n + 671)

o00ob0obOoo3ssoooooooooobooboooooooobobobobooooooo
good

Q=1291690000
P = 5105101 + 129169

2P + 1 = 2(510510n + 129169) + 1 = 10210201 + 258338 + 1 = 10210201 + 258339
0000010210200 20 2003,5,7,11,13,17000000 10000000

258339 = 3 x 86113 x 1

oooo
2P + 1 = 3(340340n + 86113)

gooooooOo3soobooooooobo0oOoU0bOoUbDOoUobDOoUobDbOUDOoUobDbOUDoOO
oono

Q=1291790000
P =510510n + 129179

2P + 1 = 2(510510n + 129179) + 1 = 10210201 + 258358 + 1 = 10210201 + 258359
0000010210200 20 2003,5,7,11,13,17000000 1000000

258359 = 23 x 47 x 239 x 1
Ooooo 10210200 0000000000000
2P +1 = 510510m + 258359

gooboobooobooboboobboobboobuooobooo

Q=1291870000
P =510510n + 129187

2P + 1 =2(510510n + 129187) + 1 = 1021020n + 258374 + 1 = 1021020n + 258375

0000010210200 20 2003,5,7,11,13,17000000 10000000

258375 =3 X H X HxHx13xb3 x1

oooo
2P +1 = 195(5236n + 1325)
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goog

Q=1291910000
P =510510n + 129191

2P + 1 =2(510510n + 129191) 4+ 1 = 1021020n + 258382 + 1 = 1021020n + 258383

0000010210200 20 2003,5,7,11,13,17000000 10000000

258383 =17 x 15199 x 1

oooo
2P +1 = 17(60060n + 15199)

o00o0ooO0oobo1vooob00o0ob0O0o0obOOoOoo0bO0oo0DbOO0o0obO0oOobUobDoOooDbOoboDbOoon
good

Q=1291930000
P = 510510n + 129193

2P + 1 =2(510510n + 129193) + 1 = 10210201 + 258386 + 1 = 1021020n + 258387

0000010210200 20 2003,5,7,11,13,17000000 10000000

258387 = 3 x 43 x 2003 x 1

oooo
2P + 1 = 3(340340n + 86129)

gooooooOo3oUoboooooooboU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoOobDboUDoO
ooo

Q=1291970000
P =510510n + 129197

2P + 1 = 2(510510n + 129197) + 1 = 10210201 + 258394 + 1 = 10210201 + 258395
0000010210200 20 2003,5,7,11,13,17000000 10000000

258395 =5 x 51679 x 1

oooo
2P + 1 = 5(204204n + 51679)

g0oboboOoos0b0b0obO0ob0U0o0b0bOobOUoO0bO0OobOobOOobDOobO0oobUobDOobDOoo
goo

Q=1292030000
P = 510510n + 129203
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2P + 1 =2(510510n + 129203) + 1 = 1021020n + 258406 + 1 = 1021020n + 258407

0000010210200 20 2003,5,7,11,13,17000000 1000000

258407 = 258407 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m + 258407

gboboobogobogoboboobboobooobooooboon

Q=1292090000
P = 510510n + 129209

2P + 1 = 2(510510n + 129209) 4 1 = 10210201 + 258418 + 1 = 10210201 + 258419
0000010210200 20 2003,5,7,11,13,17000000 10000000

258419 =7 x 19 x 29 x 67 x 1

oooo
2P + 1 = 7(145860n + 36917)

gooooooboovyoooooooooboooooOoboOobDoobDOoobbOODbDoOOobboUODboO
goo

Q=1292110000
P =510510n + 129211

2P + 1 = 2(510510n + 129211) 4+ 1 = 10210201 + 258422 + 1 = 10210201 + 258423
0000010210200 20 2003,5,7,11,13,17000000 10000000

258423 =3 x 11 x 41 x 191 x 1

oooo
2P + 1 = 33(30940n + 7831)

obooboooo3dbooooboooooobooobooboobooboboooobOoobOoo
good

Q=129221 0000
P =510510n + 129221

2P 4+ 1 =2(510510n + 129221) 4+ 1 = 1021020n + 258442 + 1 = 10210201 + 258443

0000010210200 20 2003,5,7,11,13,17000000 1000000

258443 = 258443 x 1
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2P 4+ 1 =510510m + 258443

gbobooobogobooboboobboobboooboooboon

Q=1292230000
P = 510510n + 129223

2P + 1 = 2(510510n + 129223) + 1 = 10210201 4 258446 + 1 = 10210200 + 258447
0000010210200 20 2003,5,7,11,13,17000000 10000000

258447 =3 x 7T x 31 x 397 x 1

oooo
2P + 1 = 21(48620n + 12307)

go0odoOoboOo210000000b0bO0obooO0oo0oOo0oDOobDOo0oDOobDOobDoOoboOoooO
googo

Q=1292290000
P =510510n + 129229

2P + 1 = 2(510510n + 129229) + 1 = 10210201 + 258458 + 1 = 10210201 + 258459
0000010210200 20 2003,5,7,11,13,17000000 10000000

258459 =3 x 101 x 853 x 1

good
2P + 1 = 3(340340n + 86153)

g0obOobooo30bobobooooobobooDooboobobDobDobooobUoboobDoo
goo

Q=1292470000
P = 5105100 + 129247

2P 4+ 1 =2(510510n + 129247) 4+ 1 = 1021020n + 258494 + 1 = 1021020n + 258495

0000010210200 20 2003,5,7,11,13,17000000 10000000

258495 =3 x5 x 19 x 907 x 1

oooo
2P + 1 = 15(68068n + 17233)

gooooooOobooooooobOobooooUobooooDOoDOoUoDOobDOoboboboOooboo
good
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Q=1292530000
P = 510510n + 129253

2P +1 = 2(510510n + 129253) + 1 = 10210201 4 258506 + 1 = 10210201 + 258507
0000010210200 20 2003,5,7,11,13,17000000 10000000

258507 =3 x 3 x 28723 x 1

oooo
2P + 1 = 3(340340n + 86169)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=1292570000
P =510510n + 129257

2P + 1 = 2(510510n + 129257) + 1 = 10210201 + 258514 + 1 = 10210201 + 258515
0000010210200 20 2003,5,7,11,13,17000000 10000000

258515 =5 x 149 x 347 x 1

oooo
2P + 1 = 5(204204n + 51703)

g0obOoboOo0os0b00b0bO0oO0U00bO0ObDOobOUOObO0ObDUObDOobDObOOODbOobDOoDbDOn
goo

Q=1292630000
P = 510510n + 129263

2P + 1 = 2(510510n + 129263) + 1 = 10210201 4 258526 + 1 = 10210201 + 258527
0000010210200 20 2003,5,7,11,13,17000000 1000000
258527 = 258527 x 1
0000 10210200000000000000
2P + 1 = 510510m + 258527

gbobogobooobooboboobboobbooobuooooboon

Q=1292710000
P = 510510n + 129271

2P 4+ 1 =2(510510n + 129271) 4+ 1 = 1021020n + 258542 + 1 = 1021020n + 258543
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0000010210200 20 2003,5,7,11,13,17000000 10000000

258543 =3 x 3 x 23 x 1249 x 1

oooo
2P + 1 = 3(340340n + 86181)

g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=1292770000
P = 5105100 + 129277

2P + 1 = 2(510510n + 129277) 4+ 1 = 10210201 + 258554 + 1 = 10210201 + 258555
0000010210200 20 2003,5,7,11,13,17000000 10000000

258555 = 3 x 5 x 11 x 1567 x 1

oooo
2P +1 = 165(6188n + 1567)

gooodOoboOoles0dbOO0OO0O0ODOO0ODOUODOUODOODbDOOOOOUODOUODOO
googo

Q=129281 0000
P =510510n + 129281

2P + 1 = 2(510510n + 129281) + 1 = 10210201 + 258562 + 1 = 10210201 + 258563
0000010210200 20 2003,5,7,11,13,17000000 1000000

258563 = 258563 x 1
Ooooo 10210200 000000000000
2P + 1 = 510510m + 258563

goboobooobooboboobboobboobooobooo

Q=1292870000
P = 510510n + 129287

2P 4+ 1 =2(510510n + 129287) + 1 = 1021020n + 258574 + 1 = 1021020n + 258575

0000010210200 20 2003,5,7,11,13,17000000 10000000

258575 =5 x 5 x 10343 x 1

oooo
2P + 1 = 5(204204n + 51715)
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gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=129280 0000
P =510510n + 129289

2P + 1 =2(510510n + 129289) + 1 = 1021020n + 258578 + 1 = 1021020n + 258579

0000010210200 20 2003,5,7,11,13,17000000 10000000

258579 =3 x 3 x I x 61 x 157 x 1

good
2P + 1 = 3(340340n + 86193)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=1292930000
P = 510510n + 129293

2P 4+ 1 =2(510510n + 129293) + 1 = 10210201 + 258586 + 1 = 1021020n + 258587

0000010210200 20 2003,5,7,11,13,17000000 10000000

258587 =7 x 17T x 41 x H3 x 1

oooo
2P + 1 = 119(8580n + 2173)

goooooboolyogooooooooOooboooboUoOoOobOo0ooooooDoUuDboo
good

Q=1292990000
P =510510n + 129299

2P + 1 = 2(510510n + 129299) + 1 = 10210201 + 258598 + 1 = 10210201 + 258599
0000010210200 20 2003,5,7,11,13,17000000 10000000

258599 = 11 x 23509 x 1

oooo
2P + 1 = 11(92820n + 23509)

oboobOooobolnoooooobooobObooobooobOo0oboobUobDoooDbOoobOoo
good

Q=129301 0000
P = 510510n + 129301
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2P + 1 =2(510510n + 129301) + 1 = 1021020n + 258602 + 1 = 1021020n + 258603

0000010210200 20 2003,5,7,11,13,17000000 10000000

258603 = 3 x 86201 x 1

oooo
2P + 1 = 3(340340n + 86201)

goooo0ooOo300boo0ooU0ooUooU0bDOoUDOoUDOoUbObOUDOOobDbOUDOO
goo

Q=1293070000
P = 5105101 + 129307

2P + 1 = 2(510510n + 129307) + 1 = 10210201 + 258614 + 1 = 10210201 + 258615
0000010210200 20 2003,5,7,11,13,17000000 10000000

258615 =3 x I xHxT7Tx821 x1

oooo
2P 4+ 1 =105(9724n + 2463)

go0obOobOooDls0b0ob0o0o0ooobobooooOob00oobOOobUobOoDOooDOobDon
good

Q=1293130000
P = 510510n + 129313

2P +1 = 2(510510n + 129313) 4+ 1 = 10210201 4 258626 + 1 = 10210201 + 258627
0000010210200 20 2003,5,7,11,13,17000000 10000000

258627 = 3 x 86209 x 1

oooo
2P + 1 = 3(340340n + 86209)

gooooooOo3oUoboooooobooU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoUobDbOUODoOO
ooo

Q=1293170000
P = 510510n + 129317

2P 4+ 1 =2(510510n + 129317) 4+ 1 = 10210201 + 258634 + 1 = 1021020n + 258635

0000010210200 20 2003,5,7,11,13,17000000 10000000

258635 =5 x 13 x 23 x 173 x 1
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2P + 1 = 65(15708n + 3979)

obooboooboe,bbobbo0oUooboboC0boO0bOo0obUoOobUobDoooDbOoboDbOoo
good

Q=1293230000
P =510510n + 129323

2P 4+ 1 = 2(510510n + 129323) + 1 = 10210201 + 258646 + 1 = 10210200 + 258647
0000010210200 20 2003,5,7,11,13,17000000 1000000

258647 =19 x 13613 x 1

o000 10210200 000000000000

2P +1 = 510510m + 258647

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=1293290000
P = 510510n + 129329

2P + 1 = 2(510510n + 129329) + 1 = 10210201 + 258658 + 1 = 10210201 + 258659
0000010210200 20 2003,5,7,11,13,17000000 1000000

258659 = 258659 x 1
oooo 10210200 000000000000
2P 4+ 1 =510510m + 258659

goboobooobooboboobboobbooboooboon

Q=129331 0000
P = 510510n + 129331

2P 4+ 1 =2(510510n + 129331) + 1 = 10210201 + 258662 + 1 = 10210201 + 258663

0000010210200 20 2003,5,7,11,13,17000000 10000000

258663 = 3 x 151 x 571 x 1

0ooo
2P + 1 = 3(340340n + 86221)

gbooboooo3oboboboooooboboooobobobooboDobooobUobobooo
goo
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Q=1293410000
P = 510510n + 129341

2P + 1 = 2(510510n + 129341) 4 1 = 10210201 + 258682 + 1 = 10210201 + 258683
0000010210200 20 2003,5,7,11,13,17000000 1000000

258683 = 167 x 1549 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 258683

gbobooobogobooboboobboobooobuoooboon

Q=1293430000
P = 5105100 + 129343

2P 4+ 1 =2(510510n + 129343) + 1 = 10210201 + 258686 + 1 = 10210201 + 258687

0000010210200 20 2003,5,7,11,13,17000000 10000000

258687 =3 x3 x3 x11 x13 x67x1

0ooO
2P + 1 = 429(2380n + 603)

ooooooboo429000bo0oo0ooo0ooobooooboogoboobbo0oooooDooDoo
good

Q=1293470000
P = 510510n + 129347

2P + 1 =2(510510n + 129347) + 1 = 10210201 + 258694 + 1 = 10210201 + 258695

0000010210200 20 2003,5,7,11,13,17000000 10000000

258695 = 5 x 31 x 1669 x 1

oooo
2P + 1 = 5(204204n + 51739)

oboobobooosOob0obOobOUoobo0ob0obDobOUobObOobUobDobDOobObOoobUobDOoboOoo
goo

Q=1293590000
P = 510510n + 129359

2P 4+ 1 =2(510510n + 129359) + 1 = 1021020n + 258718 + 1 = 1021020n + 258719
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0000010210200 20 2003,5,7,11,13,17000000 1000000

258719 = 293 x 883 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 258719

goboobooobooboboobboobbooboooboon

Q=1293610000
P = 510510n + 129361

2P + 1 = 2(510510n + 129361) 4+ 1 = 10210201 + 258722 + 1 = 10210201 + 258723
0000010210200 20 2003,5,7,11,13,17000000 10000000

258723 =3 x 3 x17x 19 x 89 x 1

oooOo
2P + 1 = 51(20020n + 5073)

oboobooooslboooboboobooobobooobooboobooboboooobOoobOoo
good

Q=1293730000
P = 510510n + 129373

2P + 1 = 2(510510n + 129373) 4+ 1 = 10210201 + 258746 + 1 = 10210200 + 258747
0000010210200 20 2003,5,7,11,13,17000000 10000000

258747 = 3 x 86249 x 1

oooo
2P + 1 = 3(340340n + 86249)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=1293770000
P = 510510n + 129377

2P + 1 =2(510510n + 129377) + 1 = 1021020n + 258754 + 1 = 10210201 + 258755

0000010210200 20 2003,5,7,11,13,17000000 10000000

25687556 =5 x 7 x 7393 x 1

oooo
2P + 1 = 35(29172n + 7393)
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Q=1293790000
P = 510510n + 129379

2P + 1 = 2(510510n + 129379) 4 1 = 10210201 + 258758 + 1 = 10210201 + 258759
0000010210200 20 2003,5,7,11,13,17000000 10000000

258759 = 3 x 3 x 28751 x 1

oooo
2P + 1 = 3(340340n + 86253)
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goo

Q=1293830000
P = 510510n + 129383

2P 4+ 1 = 2(510510n + 129383) + 1 = 10210200 + 258766 + 1 = 10210200 + 258767
0000010210200 20 2003,5,7,11,13,17000000 1000000

258767 = 29 x 8923 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 258767

gbbooggbogoboobbugobboobbooobuoonbagn

Q=129391 0000
P =510510n + 129391

2P 4+ 1 =2(510510n + 129391) + 1 = 10210201 + 258782 + 1 = 1021020n + 258783

0000010210200 20 2003,5,7,11,13,17000000 10000000

258783 =3 x 7 x 12323 x 1

oooo
2P + 1 = 21(48620n + 12323)

0000000021 0000000000000O000DODO00DO00ObOObDOoODObOObODbDOn
good

Q=1293970000
P = 510510n + 129397

2P 4+ 1 =2(510510n + 129397) 4+ 1 = 1021020n + 258794 + 1 = 1021020n + 258795
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258795 =3 x 3 x3x3x3Ix3I3xHxTlx1

oooOo
2P + 1 = 15(68068n + 17253)

o0oobOoooibooobooooOooooOoobooob0o0oboOobUoooooboOoobOoo
good

Q=1294010000
P = 510510n + 129401

2P + 1 = 2(510510n + 129401) 4 1 = 10210201 + 258802 + 1 = 10210201 + 258803
0000010210200 20 2003,5,7,11,13,17000000 1000000

258803 = 258803 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 258803

gboboobogobooboboobboobbooobuoonooboon

Q=1294030000
P = 510510n + 129403

2P + 1 = 2(510510n + 129403) + 1 = 10210201 4 258806 + 1 = 10210201 + 258807
0000010210200 20 2003,5,7,11,13,17000000 10000000

258807 = 3 x 86269 x 1

oooo
2P + 1 = 3(340340n + 86269)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=1294070000
P = 510510n + 129407

2P 4+ 1 =2(510510n + 129407) 4+ 1 = 1021020n + 258814 + 1 = 10210201 + 258815
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